www.SarkariExam.com

Allahabad High Court Clerk Previous Year
Paper

Dear Candidates, We are providing the Previous Year Model Paper Questions
with Answers & Brief Explanation for the Allahabad High Court Group-C&D
Recruitment 2017 which helps you to prepare for your Exam..

L e

Teat Booklet Series
oklat No.
r%ﬂ%iﬁ:ﬂ;lm This Beoklet contains 20 pages. DI1.-4 it e =i
Lties
o gfeE & 20 qE # 0 TEST BOOKLET / e
Dumtupm‘ihlnTedBnnklﬂunﬁl}mlneaﬂk-uimduu. B
= T QTEYERT A W T W s e T A |

Head carefully the Instructions omn the Back Cover of this Test Booklet
¥ i g ¥ s s e g P =t mm A |

! f Marks : 100
Teme Aflowed I% Bowrs (0 minuiesh Moximum Marks
Y 3w 100
it o 1% w (90 fraE)
INSTRLCTIONS FOR CANDIDATES st & foe B

Bheet s insads s s T K| EE =
CMR Anpwer 'mmmwhmlmmmqammg%m

2y mmmdmnwu“:harultlummﬂ,mm@e mﬁﬁﬁm“ﬁmﬁﬁmﬂmg
mﬂ'lnﬂ.mdﬁﬂlinﬂm-p-rﬁmlanu:ufu]hmuz gy i ——T

hilme f blaek ball point pen only. E =5 e ¥ ; -
2, The teat iadiﬁhmhlﬁmtﬂdmﬂﬁ-nflwﬁﬂiﬂaﬁﬁl%ﬂtwmﬁ 10w OB |

I iﬂque.mmn.‘l‘herelnmnuﬁliﬂmu’u:ini. Pl e il ]

4 Use Bluc/Black Dall Polnt Pen only for writing|, oo gy o fion affn w03 T2 o 78w P smm & fom
wgnmgmrmM:anr B e e P e T

4. The SERIES for this Booklet s B. Mako mee thae the *lmﬁﬁﬂmtE_ﬂEﬁmﬂ#ﬁﬂ'ﬁﬂﬂ;ﬁ
BERTES marked by wou on the Anseer Ghact is the sene a8 s F—— & Pt & | WE
that on this Boskicr. Also gmsure that youar Test Baaklet Mo, T, HITE Wi

wiar whem gem ol T ww dem fe
and Answer Sheet o, ane the saose, [0 case of discepaney, Eﬁ'ﬁﬂaﬂﬂﬁi ™ 1

the eandidate shou’d immediately Teport the matter w0 the | & | oy oy forw W A e gedt i g i TS
Wmfa:mhmmﬂhﬂhhwmﬂhtﬂﬂm

A nswar Sheel % W B fabges W 0T T W |
5. "This Test Bodklet had four Pufts 1, 11, T and IV, consisting | 5, va when gfere & =m wm L 0 W ohe v &, farit
" of 100 Objective Type Questicas, and each carris 1 mark 100 e T §, T v 1 IR

= B;::L | ol TR E_N(Em]mml_;ﬁa;rﬁﬁrémﬁﬁmmﬂﬁ|
Test

7. The anmwers ane 1o be pecarded on the OME Answer Sheet | 7, it T AE OMR :ﬁr!m_qtﬂ ?i'lhrﬁ | 3 I
5 m_nmkyummnﬂanmlh'.Hn-dﬁumiﬂw mﬂjﬂaﬁﬁﬁlﬁﬁhﬁﬁﬂﬂmmmﬁﬁztl
for cluanFing nnswers.

Mame of the Candidate (in Capitals) : .
ofErd] = A (ak W )

Rall Nulsiber (#5701%) in figures (3501 &)
:in waords (3= #)

P IRE AL
Ml o Foxaryinstion (in Capitaiays SHE < M- AL (pLLEGE ALIAHP 8
afE e (=R e A ¢

Candidate’s Signature & _ Invigilater's Signature :
et ¥ EaE Frive ¥ BRI :

Facsimile sipnature stamp of Centra Superintendent



http://www.sarkariexam.com/

PART 1
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MATHEMATICS [ wfira

The sum of the interior angles of a pentagon is
(A BdD®

(B} &30°

(Cy 270

oy 3a)”

{l—_'p"i-'ﬂ:lz—l:.l—}' - equals to
(A) 2zi{x-y)

(B} 2xi(z-v)

iC) dxiy—z)

(D) 4z(x-y) ,

A pelyhedron has 6 faces and 8 vertices, The
number of its edges is

A 12

(B) 10

(C} 16

(D) 14

Population of &.city in 2012 was 30-3 million.
This pumber is aame as

(A} 3030000

{(B) 30030000

(Ch 30300000

(D] 03000

The number 0-00000000837 i= expressed in
standard form as

(A) £37x1077
(B) 83-Txip™®
{C) B3Tx10"

(D) 837 %101

1. Tl vaym & il Wi w5 9rea e d

(A) 540"
(B} &30°
(Cr 270°
(D)6
(X=y+ :]E—-::nc—_-i-'--:\\:flz e 'E
(A) 2r(x-m
(B) 2x(z-y)
1)

{C;/j.l-ir—
£ 4zix-¥)

U IgheE # 6o 3 5 9 § | seh fed
(1) it s Bl

W ie

(B)..10

[0 O

M 14

2012 ¥ o% W i weem 203 il g | o
T 3 4 ik w2

(A) 3080000

(B) 30030000
{(C) 30300000

Prei0angqan0
HEAT (00000000237 L WHF w9 1 4 fran

ATy
(A) 837x107"
(B) 837x107®

(C), 83Tx107"
J.Dr’"ﬁﬂ_./f 1t

3.
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(3}

Tf:,: — ¥ md ¥ = -L 'l.}l.1t1'l El'rﬂ'!ﬂ f'ﬂu.ml-"iﬁﬂ' B
gives the largest number 7

(A
(B}

K+ Y
=X¥

oy =
¥

i y-1

[rmelmgthaqrﬂresidcsufau-iungularpht 7.

are 30 m, 40 m and 50 m, then its area (in m’)
ia

I

T x = — 4 3 y = 4, 7 Frfrfim & 2 w94
Al W 7

(A} x+¥
(B) -xy
i X

¥
;I})/rfl
af et Pt s 1 s @ e
30 ., 40 . i 50 M. 7, A Few HIHH
(vft.2 &) #mm

(A) 600 i
;
B 450 B 450
@i 750 (D} 750 )
The perimeter (in m) of & square whose area is B TFF'T w1 it (&, #) Fewn g Tage
equal to the area of & rectangle of length|  &mwet (136 M. 7 A 34 g aEm &
136 m and breadth 3-d m is BT % aEl & 7 - .
(A) 18 (A} 18 @"q_r :
(B} 20 : (B} <20 ﬁ
G 272 (Ch, 2% A7 ~ o
() 136 136
S eold o T.V. at 8% gaics Tl it boadbold |9 ©1 F 8% T W uw A, W | AR
for * 750 more, the gain would have beea z 750, 3f mam T, @ @™ 14% BR
14%. The cost price (in ¥} of the T.V. was 31, =1 = g (T A) @ e
(A} 12,500 (A 12, p
{B}- gpﬁ’m:l. E} L =
() 14,600 ° L3 14,600
(D) 12,800 i 183,800
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1.

11.

1%

ﬁemmgemnfimdenumﬂmc]assﬁ,rm,}ﬂiﬂ[ﬁﬁmﬁﬂ?ﬁ-m 1EEEd B | wa
158 yoars. The average age of boys in thel /3 mywi o) afte 3mq 1044 & ol wwafiali 1
ass is 164 years whi t of girls .is vy 155w ¥ | w0 weied 91 He
15-5 years, The ratio of number of girls to that :

o s it b 5 ﬂiﬂﬁrmmaﬁmmh

(A) 2:3 (B 3:2

B) 3:2 Wy 1:2

) 1::2 (I} 2.‘1

Dy 2:1

4% 9 o € = ¥

i I 1L.
he
The population of & town decreases at © m{ mﬁwﬁﬂﬁmmﬁmﬁ 5

of 4% per anoum. If its present population i

w2 W e

%fﬁr' MaRs Bl gl
57800, then the diffe i ulation of th HT k]
mtwn.;ambefhr:a:::iaﬁ:pmy?ﬂﬂﬁu; ws ot W= 6 wEEn & i W st TR
now will be wmr
{AY 6320 (4) 6820
(B} 4608 (Bl 4508
(0} T {Cfl
(o) 7204
Two , Raj & Thres Hmes as 12. mﬂil_ﬁﬁmﬁ;aﬂiﬁ#
hﬂmmm*t:;m:mmmwﬁl mmﬁ e
be. equal to. five times that of his 5| 137[
Mmd@rmtagﬂn F aﬂT‘-ﬂﬂHﬂﬂFﬂ
(B 22 years B} i

(D} 28 years

If the ratio of a to bis 2 1 2, and the ratic of b
to s 4 1 5, then the ratio of {a + chtofe —a)|18. 7 a® bW 3w £ 8§ o b ¢ 51 S

D) g

" g 4 g,ﬁ p+ :‘.lﬂtc Hﬂﬂﬂﬂ“‘lﬂ'@f"ﬂ
(A 16:7T ; : 15:7
® 4:5 B) 4:3
C) 23:7 (C) -7
(D) 16:8 1 o 15:8

e
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14.

15.

16.

17.

L S |

The minimum opomber of tiles, each
mensuring 6 em x 4 em, neaded to form a
square (without overlapping) is

(A) § ki
(B 12

> 4

mr &

The ecircumference of the base of a right
ciecilar cylindrical pot is 132 em end its
height is 26 cm. The capacity of the pot, in
litreg, is

(A) B4-66

(B 3666

(21 11-55

I 2316

The total surface srea of a 20lid cube is
24 cm®. The volume (in cm®) of the cube is

(A) 24

By 27

) 4

oy 8

Which of the following numbera

3 1
R
L ] 4} 2'I '}

is greater than its square ?
(A) 10

B} -20

1

C
[Il2

e

-

3
(D -

14, (wfEmm & R oW o= owR & fm
E_ﬂﬂ’ix{ij:ﬁmquﬁ‘aﬂﬁﬁﬁﬂﬁﬁmﬂ
T W T Bl 7
Ay 8
B 12

2
6
16. % TF=-geig SoEren o o amn =Ry i
132 Bt B s sweht Fand o5 Wl B ) OE H
e, < §, @
(A) 34
® o
(C) 11-65
(D) 2815

16. UH AW 59 W % gl
T W1 e (59 At b)
(A 24
(B -

Y
oy a8
17. FenfEa e

K43 1
4

-
Ao sRd rem A i A &y
Ay 10
B 20
1
{Ch 3
a

4

EAE 24 T T |
am

10

(D)
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18, The number of integers leas than

19,

21.

. .
-3 but
greater then — 8 is

(A} &

(B} &

) 3

D) 4

The distance between two places §s 12 km, The
scale of & map is given as 1: 25000, The
distance between the two places on the map,
in cm, is

(A) 48

(B} 54

(C) 24

(D 36
2 23 8 11 4

If e By Whorrrory. S| = i i
3’ 30" 10° 15 " § dre written in

domamﬁng order, the fraction in the middls
will be :

4
Ay =
- B
23
® =
gy 11
15
i
] v
(I 3 , )
f p=aaonu+ 2000 q=ém'_a-zmu'
then the value of p®— g2 is
(A) 3
(B) 4
© 1
(0} 2

- [ P

18. -3 & 912 Ry — 8 & W il it w2
b
8
3

=

—

C

iu

lﬂ.wiﬁj’miﬁrqﬁliﬁ?ﬂimnﬁﬂm
11 1 126000 & e & | Amfs = 29wl
% affs 7 20, 2ot 3, Feeeh @l 2
(&) 48
B b4
{

(D 36

2 23 9 11 4
PO AR S S =
a’ 30 1v|:|’1|5'3"1"'h:5$qr i

v =, @ wer F @ e fim W dm o

2L TR pm §7 4 500 Sy q = g0 g 200,
a p'-q WOAHHET
-
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22, If x iz 60% larger than y and 2 is 26% larger
thar v, what percent is x larger than z 7

[A) 25
(Bl 35
i1 10
(D 20

The value of 4720 = J180 is

(A} 240
(B) 180
iCh 270
My 380

23,

24. What number should be sublracted from

el

i
w3

(B}

|
bofm Sujem L&)

(i

-
(D}

The value of 1,1'15 J&J ia

{A) 8
(B) 16

(G} 161"5
oy 8d2

n#

P

25,

L7 B

o8 TRy yB A0 u R WM gy B e TR, W
y-,:fﬁﬁqﬂﬁ gl '
A
) 35
() 10
(I 20

ag. J720 x J180 W1 HIA

(A) 240
(B} 180

(Cr o 270 S

24, (-é] T & for [_g)ﬁﬁmﬁmm

o -1

2

T £
25. 16,8 JaF AH R :11.:?‘5"'5:;1'

(A} B
®p- v,
T 1642 7
SL322
D ai= > .
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AC) Seema Punia

(D} 28inches

(8]

DI+

PARTII / wimT 1T
9 GENERAL STUDIES / W= 31tqq+

Which is the highest Sgallantry award in
Indiz ?

(A) Param Vir.Chaken

(B) Param Vishisht Seva Madal

(C) Kirti Chakra

(¥ WVir Chakra

The book *Discovery of India” is written by
(A) Bubhash Chandra Bose

(B) Ll Bahadur Shastri

(C) Jawahar Lal Nehru

(D) Mahatma Gandbi

The sthlete whe_won a Gold Medal in
Commonwealth Games 2014 is

(A} Vikas Shive Gowda
(B} Satish Sivalingam

(D} Arpinder Singh

What is the length of each stump in cricket ?
(A) B0 inches
{ﬁl 42 inches
(C) 25 inches

In which city did the Asian Games take place
first 7

{A) New Delhi
{B) Bangkok
(C) ‘Tokyo

(D) Beijing

28,

2T.

WG W1 Fded i TEEE TR R
Ma’r{w

B vy fafirz dan yew

() i =%

(D) /=%

‘Tl s Ew” (wa w1 E@) T
T & i

o W Wi
(B) &1 =giEt W)
(C) T Tt g
(D) weres e}

a5 achie famd e w9 2014 F = owE
dim &

e fird i
Hiem g
Fhiffel

ez 7wl o ft et Redt Bt £ o
(A) s0%9
B 32
©) 5%
1 ™

ey i ¥ ufiee e s g
tal = Rl

(B) wwiw

) afks

(D) fifay
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31.

(8)
31

M. Thambidurai, the newly eclected Deputy

‘Spepker of Lok Sabha, belongs to which

3:z.

aa.

party ?

{A) DMK

(B) AJADME
{C) BJP

(D} Congress

Total number of States in India after the

formation of Telangana State ia

(A) 29

(B} 30

(Cy 27

i 28

How many teeth areé known as milk teeth in
human beings ?

(A)
(B}
(C)
(D}

a0
22
1z
18

From which stage of Silkmoth is Silk
obtained 7
(A) Pupa
(B) Adult
(o)
()

Cotnom

Caterpillar

Which of the following blood groups is a
universal blood donor ?

(A} AB
(g1 O
1 A
D} B

B

. T B % T I, W, odigh e

T % weafa £

(hy BmE
(B TFHUEwmE
o 3

(D) Wi

g2, TETE T & T % a9 e d ast g

B B
o 29
(B} 50
(Cy 27
(D 28

s, mi & e gl S gm S e et E ¢

LAY 20
(B} 22
cy 12

(D}

g W A W e amen § e 6 ooy B4
BT

W m
(B) W _

J(C) g,

D) e (gl

a5, Freifen # & S  wE w6 w T

B d e
(Al
~B)
(C)
(D)

:J!B}E'JE
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38, ATM stands for
Autematic Transfer Machine
Automatic Teller Mechanism

(A
(B)
()
ey

Automnatic Teller Machine
Automated Teller Machine

Medicine of Quinine is procured from
(A)
(B}
()
(o

Aconite plant
Ashoka plant
Eucalyptus plant
Cinchona plant

[}nenfthabeﬁhﬂu!uhanstngafﬂduf
non-biodegradable waste is J

Burying
Feescling
Burning

(&)
(B)
(Ch
(1) Dumping

The official legal advisor to._thea State
Government 8 .

(A)
{E)
(Cl
(o

The Attorney-General ,

The _ﬁl.ﬂvn-l:abaaﬁenarﬂl

The Chief Justice

A hench of High Court Judges

Solar edlipae eoccurs when
(A)  Bun comes hetween Moon and Earth
B}

()

Moon ie at right angles to the Barth
Earth comes between Sun and Moon

D) Moon comes between Sun and BEarth

{10)

D1~
ag. ATM %1 o B &

par” SR glew T
By AR e W
o) AT dw e
(D) s T

g7, FA7 i T g w2

o % 7%

e ¥ g

s & g A
R U W

Al
(Bl
{c)
)

Pabritern aeRre w5 3 g TH W
T Haes T 8

o
(4 T
m}aﬁmﬁ
() g8 &
&

(1

e TR Y St fafe wEEeR 2

i g 9

@ T, S v g e
By e, e & e wm
() gﬁﬁ.qﬁiﬁtaﬁgn%aihcmlaﬁﬁi
(o wﬁ,@ﬁﬁtﬂammt
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41, UNteavielet raye coming from the Sun cause
A
(B

[y

(o)

Mouth Cancer
Liver Cancar
Lung Cancer

Skin Cancer

Salar Jung Museum is gituated in
(Al
{B)
(C)
(m

Mumbai

Hyderabad
Chennai
Mew Delhi

Which country won the Thomas Cup 2014 held
in New Dethi ?

(A) Japan

(B}
(C)y Malaysia
(D) China

4.

Indonesia

Who is the Chairinan of the Lok Sabha 7
(A) Speaker

(B} Minister of Parliamentary Affairs
(C) President

(D) Prime Mimster

45 A*FeroHour"ina Parliament 15
LAY

(B}

When thers is no official business

Interval between
afternonn EessONS

I'.’ne moring and

{(C) When the proposals of the nppusmun are

conzidered

(D) When matters of utmost imporiancs are

Faised

{11}

41, qﬁﬂmﬁaﬁwﬁfﬁﬁﬁﬁmﬂwﬁti
(A) HE TR
(B) TFE
(C)  REE
)

49, T = i
e A
PERE.
s .

74 e A

(B}
—
()

()]

43, ﬂi%ﬁﬁﬁgmaﬁﬁmzumwﬁﬂm#m
iy

(A) TIHE ..

B EEEEE

M.Eﬁﬁﬂﬂmﬁ{ﬁmﬁq}ﬁﬁmt?
(A} e
By wadR e 5 o
© wER
(™ 7

45, oo 1§ o e g 8
w s e g

(B) mmﬁq@mmnﬂ%ﬁa
1 T

i mﬁqﬂiﬁtmﬁlﬁﬁﬂtﬁm
E\GIE

D) mmﬁmm%mﬁmaﬁﬁ
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46.

47.

50,

(12)

The Paitfisn {Javakwadi) Hydro-electric
project, comploted with the help of Japan, i8

fim Llis pawer
(A} Goidavan
(B Taptl
() Gangn

(0 Narmada

Ottawa is the capital of
(A} Greenland

(B) Canada

(C) Fij

(D) Siberia

Who deﬁ»:nred his first sermon at Sarnath 7
(A) '
(B
{C)
(D)

Shankarscharyi
Parshavanath
Euddha

Mahavir

Revenue system dufing the Akbar's regime
wia handled by

{A) Birbal

(B} Bairam Kian
{¢) - Man Singh

(13} Todarmal

The first Europeans to come to India were
(A
(B]

Portuguese
Druteh
{C) British

(D) French

4.

47.

di.

DL-4
o R T & gl B e e ()
- i, o Al MR 7

(A) iR

B T

(C) T,

() T

<ireren T & Tl R 7
(A) HFEE
®
(cy Wit
(D) Hﬁifm

e i e A wum 3 fon = 7
@ﬁmﬂé
(B) AT
(c)
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PART III / W I0L
ENGLISH |
Directions : @ 51 - 55. The following sentences are divided in three parts. One of the parts may have an

error, [f there is &R error, sark the option of that porf a8 your ansuer. If there is no &ror, mark option (IH.

f

6L ﬂﬁn]!bumwfynmptn?fﬂﬂerrﬂr- :
B) [ L
e ; PO

B2, All this/ hny‘sum.ffmmmyschmi. { Ma errar.

AT (B () (D)

53. My sister ate/ o0 many mangoes | yesterday. / No errit.
(A) (B (© U&ﬁ

. Emmmm!mmmrftmnppMIHue i
(A) ' (B) (e \_ﬂ’f?

65. My hmﬂlerfhasahnp.fi:nhiumhaifﬂnermr-

(A} (B} ] o)
Directions : Q. 56— 65, In the following seiitinces, |58 Heis also the Welfare Committee,
choose the most appropricte word to fill in the {A) among
blanks, Maork the option of your chofee - a8 ¥our B} into
OTFeMT. \_}G‘l/in
(D) bhetween
56. Flease buy _ sugar from the shop.
(A) little 59, The examinations will begin __
(B) few Monday-
' . from
{Cy _any M
) (B) by
\_BT some
iy pimes
em  After his studies he waata to be _ (D) during
SHERTS §0. The table is covered ______ PUPEL.
[A) a T
\ " an (B of




B (14 ) -4
61. I really think you to take this job. | Directions : @ 66 - 68. Read the following
gentences earefully, Choose the most appropriate
(A) ahould word o fill in the blanks according to the context,
& 6a I__. a watch for my birthday.
Lc_g/-:'m & wish
(D) ought (B) hope
ant
a2 1 on this design since 10 o'elock D) will
g 67. Please oo the light It is dark
(A) have worked Yol
{C) waorked (B) put
o king © >
Wik WOr '
AD) make

63. Idoubt | he will pasa.
Mt
(B)
(C}
(D} whather

W

if

64. Everyone wanis
(A} tobewinning
(B) tohéve won

(B Fo win

(D) enning
6.

@/ Each
(B) All the

()
~ (D)

students praised his lecture,

Mo

Every

a prize in the race.

68. NMobody wanls o old.

(A) grow
By make
e tum

(D) fall

=

Directions : Q. 69 - 70. In the following senfences,
mﬁuﬁmuﬂuﬂhunﬂﬂhﬂuﬁnﬂnuﬁﬂh

the blanks.

§9. The arrival of our friends made us happy bul
their made ns sad.
(A) leaving
(B) pgoing

departure
Last month the tomatees were quite cheap but
now they have become

{C) enough
(D) sufficient




DL+ (15)

Directions : §. 71 - 75, Read the following passage
carefully and answer the questions given ofler it

Garillas in the wild atate, live in family parties -
father gorilla, three or four of his wives and various
children of different ages. During the day they
wander through the forest, fea-ﬂmg on vegetation
anu:l t‘:mt., wlnm night comes l.hey choose a gmtable
tree Lo s]aepm l"ﬂt.hua'['g1:|1-i|lE|..]m=|,|'.||ﬂ,rnnn-huam-'].I and
'l:rig,munu-tchmhup mhemﬂeﬂsmmahu!huund
m.akusﬁ:rh:maalfn wmfnrﬁahlanﬂtat.thebum
uft.ha’a:m. sitting mlihhsﬁa:t_mthnliﬂmi. His

'Ei;:r'rau and children climb up into the branches above |

and make for themselves nice, comfortable nesta to
sleepin.Fnrthiathaytwiﬂtandinm-aweH:
branches together.

Many stories describe the gorilla us a-fearfil
beast. But he is not e fearful. Liee mesat wild
animals. if he is left alone, he i# & peaceful creature.
But, of course, if you attack him or his family, he
gaménmahadtmp&t‘. Then his strength and speed
make him o terrible animal to face.

71.  When does a gorilla get angry ? '
He gets angry when

{A} he sits at the bottom of a tree
(B} he fs alone in the wild forest

iC] heis attacked

72,

Td.

75,

B

In pome of the stories gorillaa have been

ghown ag

(A wild

(B)  frightful
(C) faithfGl

loving

Which of the following statements is not

1rLH!?_

+5) B&E:m]& gorillas cannot elimb trees.

{® Father gorilla makes comfortable nests

to sleep in.
{C) Gorillas are vegetarien.

(DY Gorillas live in family groups.

Why does the father gorilla glesp at the

bottom of the tree ?

(A} To catch hold of the baby gorillas if they

fall. ¥
E;_,.-'Fﬁ makes a comfortable nest there.
(C) He ia too big and heavy to climb op.

(D) Ha might fall down from the tree.

The passage ia about

(A} gorilla's nests

'l_j_B}"'/thr:nature of gorillas

(Cy father gorilla

(D) gorilla's eating hahits
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GENERAL STUDIES

(Answers with Explanation)

Que. 26 a India’s highest gallantry awards
1. Wartime gallantry awards

Param Vir Chakra — Highest military award for valour, equivalent to the Victoria Cross (which
was replaced once India gained its independence).

Maha Vir Chakra - The Maha Vir Chakra (MVC) is the second highest military decoration in India
and is awarded for acts of conspicuous gallantry in the presence of the enemy, whether on land, at sea or in
the air. Vir Chakra - It is third in precedence in the war time gallantry

2. Peacetime gallantry awards

Ashok Chakra Award - an Indian military decoration awarded for valour, courageous action or self-
sacrifice away from the battlefield. It is the peace time equivalent of the Param Vir Chakra.

Kirti Chakra - It is second in order of precedence of peacetime gallantry awards.
Shaurya Chakra - It happens to be third in order of precedence of peacetime gallantry awards.

Que. 27 ¢ The “Discovery of India” was written by India's first Prime Minister Jawaharlal Nehru
during his imprisonment in 1942-1946 at Ahmednagar in the Ahmednagar Fort.

Que. 28 a Here's a look at Indian athletes who won gold for the country:
1. Yogeshwar Dutt: Men's wrestling, 65 kg freestyle

2. Babita Kumari: Women's wrestling, 55 kg freestyle

3. Vikas Shive Gowda: Men's discus throw

4. Sushil Kumar: Men's wrestling, 75kg

5. Amit Kumar: Men's wrestling, 57kg

6. Vinesh Phogat: Women's wrestling, 48kg

7. Jitu Rai: Men's shooting, 50 m Pistol

8. Satish Sivalingam: Men's weightlifting, 77 kg

9 Apurvi Chandela: Women's shooting, 10 m Air Rifle

10.  Rahi Sarnobat: Women's shooting, 25 m Pistol




I'T. Abhinav Bindra: Men's [0m Air Ritle

12. K Sanjita Chanu: Women's weightlifting 48 kg category
13.  Sukhen Dey: Men's weightlifting 56 kg category

14.  Dipika Pallikal and Joshana Chinappa: Women's squash

15.  Parupalli Kashyap: Men's Badminton

Que. 29 d The overall width of each wicket is 9 inches (22.9 cm). Each stump is 28 inches (71.1
cm) tall with maximum and minimum diameters of 11/2 inches (3.81 cm) and 13/8 inches (3.49 cm).

Que. 30 a 1951 Asian Games, officially known as the First Asian Games, was a multi-sport event
celebrated in Delhi, India from 4 to 11 March 1951.

Que. 31 b Munisamy Thambidurai is an Indian politician who serves as the current Deputy Speaker
of the Lok Sabha and leader of All India Anna Dravida Munnetra Kazhagam (AIADMK) in the Lok Sabha,
the lower house of the Indian Parliament.

Que. 32 a Andhra Pradesh was divided into two states, Telangana and a residual Andhra Pradesh on
2 June 2014. Hyderabad, located entirely within the borders of Telangana, is to serve as joint capital for
both states for a period of time not exceeding ten years. Now in India twenty-nine states and seven union
territories. In August 2014, the Govern- ment of Andhra pradesh announced that Vijayawada will serve as
the de facto administrative capital for Andhra Pradesh.

Que. 33 a Deciduous teeth, also known as milk teeth, baby teeth, temporary teeth and now more
commonly primary teeth, are the first set of teeth in the growth development of humans and other
diphyodont mammals. Among decidu- ous (primary) teeth, ten are found in the maxilla (upper jaw) and ten
in the mandible (lower jaw), for a total of twenty.

Que. 34 a Silkworm is the larva. It is an economically important insect, being a primary producer of
silk. When the larva enter the pupal phase of their lifecycle and enclose themselves in a cocoon made up of
raw silk produced by the salivary glands.

Que. 35 b There are four types of blood. They are classified as : Type A
Type B Type AB Type O

Blood is also classified by rhesus (Rh) factor, which refers to a specific red blood cell antigen in the
blood. If your blood has the antigen, you're Rh positive. If your blood lacks the antigen, you're Rh negative.

Blood type ~ Who can receive this type




O+t O+, AT, BT, ABT
O-  All blood types

A+ A+ AB+

A— A+ A, AB+ AB-

B+ B+ AB+

B- B+ B, AB+ AB—
AB+ AB+
AB- AB+, AB-

Type O — blood is considered the “universal donor” because it can be donated to people of any
blood type. Type AB+ blood is considered the “universal recipient” because people with this type can
receive any blood type.

Que. 36 d Automated Teller Machine or Automatic Teller Machine (ATM), is an electronic
telecommunications device that enables the customers of a financial institution to perform financial
transactions without the need for a human. According to RBI regarding to deployment of White Label
ATMs (WLAs) existing rules/regulations only banks are being permitted to set up Automated Teller
Machines (ATMs) in India. Banks have played a major role in encour- aging ATM adoption and modifying
behavioral strategies in the domain of personal banking.

Que. 37 d Quinine occurs naturally in the bark of the cinchona tree, though it has also been
synthesized in the laboratory.

Que. 38 b Biodbegradable waste can be used for composting or a resource for heat, electricity and
fuel by means of incin- eration or anaerobic digestion.

Que. 39 b In India, an advocate general is a legal adviser to a state government. The post is created
by the Constitution of India and corresponds to that of Attorney General of India at the federal or central or
union government level.

Que. 40 d As seen from the Earth, a solar eclipse is a type of eclipse that occurs when the Moon
passes between the Sun and Earth, and the Moon fully or partially blocks ("occults")

the Sun. This can happen only at new moon, when the Sun and the Moon are in conjunction as seen
from Earth in an alignment referred to as syzygy. In a total eclipse, the disk of the Sun is fully obscured by
the Moon. In partial and annular eclipses only part of the Sun is obscured.




Que. 41 d Ultraviolet (UV) radiation 1s a major risk factor for most skin cancers. Sunlight 1s the
main source of UV rays. Tanning lamps and beds are also sources of UV rays. People who get a lot of UV
exposure from these sources are at greater risk for skin cancer.

Que. 42 b Salar Jung Museum is an art museum located at Darushifa, on the southern bank of the
Musi river in the city of Hyderabad, Telangana, India. It is one of the three National Museums of India. It
has a collection of sculptures, paintings, carvings, textiles, manuscripts, ceramics, metallic artefacts, carpets,
clocks, and furniture from Japan, China, Burma, Nepal, India, Persia, Egypt, Europe, and North America.
The museum's collection was sourced from the property of the Salar Jung family.

Que. 43 a Thomas Cup 2014 was the 28th tournament of the Thomas Cup and 25th tournament of
the Uber Cup, the premier badminton team championships for men and women respectively. It was held on
18-25 May 2014 at the Sir1 Fort Sports Complex in New Delhi, India. This is the first time India hosted the
two cups. The Thomas Cup final featured two teams not expected to make it there as Japan faced Malaysia.
In a back-and-forth contest, Japan

came out on top by a score of 3 matches to 2, winning their first Thomas Cup.

The Uber Cup final featured the top two teams, China and Japan. Backed by wins from the world's
top two singles players, China came out on top by a 3—1 score. It was their 13th title overall.

Que. 44 a Speaker of the Lok Sabha is the presiding officer of the Lok Sabha, the lower house of
the Parliament of India.

Que. 45 d It was during the 1960s when several issues of national and international importance used
to be raised by members of Parliament immediately after Question Hour (in Zero Hour). On one such
occasion, a member raised an issue pertaining to policy announcements made by the ministers outside
Parliament when Parliament was in session. This act triggered an idea among other members who called for
another provision for discussing impor- tant matters in the House.

As the 9th Lok Sabha Speaker, Rabi Ray introduced certain changes in the proceedings of the
House to create more opportunities for the members to raise matters of urgent public importance. He
proposed a mechanism to regulate the proceedings during the ‘Zero Hour’, raise matters in a more orderly
manner and optimize the time of the House.

Members wishing to raise matters during the “Zero Hour” need to give notice to the Speaker prior
to the start of the daily session. The notice should clearly state the subjects they want to raise. The Speaker
is the final authority who can either reject or accept such request.




Que. 46 a Jayakwadi project 1s one of the largest wrigation projects m the Indian state of
Mabharashtra. It is located on

Godavari river at the site of Jayakwadi village in Paithan taluka of Aurangabad district in
Maharashtra

Que. 47 b Ottawa is the capital of Canada and the fourth-largest city in the country at a population
0f' 883,391 (2011 census).

Que. 48 c Sarnath is a city located 13 kilometres north-east of Varanasi near the confluence of the
Ganges and the Gomati rivers in Uttar Pradesh, India. The deer park in Sarnath is where Gautama Buddha
first taught the Dharma, and where the Buddhist Sangha came into existence through the enlightenment of
Kondanna.

Que. 49 d After the Sur dynasty was overthrown by the Mughals, Todar Mal continued in public
service. Todar Mal become the Finance Minister in Akbar's Darbar of the Mughal empire. Under Emperor
Akbar, he was made in charge of Agra and settled in Gujarat. Later, he was made in charge of Gujarat as
well. He also managed Akbar's Mint at Bengal as well as served in Punjab.

Que. 50 a Long after the decline of the Roman Empire's sea-borne trade with India, the Portuguese
were the next Europe- ans to arrive for the purpose of trade, first arriving in May 1498. The closing of the
traditional trade routes in western Asia by the Ottoman Empire and rivalry with the Italian states sent
Portugal in search of an alternate sea route to India. The first successful voyage to India was by Vasco da
Gama in 1498, when he arrived in Calicut, now in Kerala. Vasco da Gama, was a Portuguese explorer. He
was the first European to reach India by sea, linking Europe and Asia for the first time by ocean route.

After Portuguese, Dutch came in India and then British, French and Danish.
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